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QUESTION 1

How do you disable a server from Juniper DX Cluster without terminating active client requests? 

A. "Soft pause" the target server. 

B. Create a new Cluster without the server. 

C. "Hard pause" the target server. 

D. Delete the server. 

Correct Answer: A 

 

QUESTION 2

You would like to configure a channelized OC3 interface with the following properties: 

Slot 4 Port 0 Path Channel 3 Virtual Tributary Group 4 Virtual Tributary 1 times lots 112 

Which set of configuration commands accomplishes this goal? 

A. controller sonnet 4/0path 1 oc1 3path 1 ds1 1/4/1 vt15path 1 ds1 1/4/1/channel 1group 1 timeslot 112 

B. controller sonnet 4/0path 3 oc1 1path 3 ds1 1/4/1 vt15path 3 ds1 1/4/1/channel 1group 1 timeslot 112 

C. controller sonnet 4/0path 1 oc1 3path 1 ds1 1/4/1 vt15path 1 ds1 1/4/1/channel 1group 1 timeslot 112 

D. controller sonnet 4/0path 3 oc1 1path 3 ds1 1/4/1 vt15path 3 ds1 1/4/1/channel 1group 1 timeslot 112 

Correct Answer: A 

 

 

QUESTION 3

Which two functions require the use of the CLI? (Choose two.) 

A. running a tcp dump 

B. adding a VLAN 

C. adding a cluster 

D. adding a target server 

Correct Answer: AB 

 

QUESTION 4
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What are three characteristics of RIPv2? 

A. supports VLSM 

B. SUPPORTS KERBEROS AUTHENTICATION 

C. IS BACKWARD COMPATIBLE WITH RIPv1 

D. Multicasts messages to RIP neighbors E. Uses Hello Protocol for neighbor discovery 

Correct Answer: ACD 

 

QUESTION 5

When adding a new user and assigning a role, which user role has "read only" rights to the configuration and
operational states? 

A. user 

B. security_operator 

C. target_operator 

D. read_only 

Correct Answer: A 

 

QUESTION 6

You must provide SSL for SMTP and POP3. How many VIPs are required to provide these services? 

A. 4 

B. 2 

C. 1 

D. 3 

Correct Answer: B 

 

QUESTION 7

An intermediate System experiencing memory problems indicates that it may have incomplete data by setting which bit
in its LSP? 

A. more bit 

B. partition bit 

C. attached bit 
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D. overload bit 

Correct Answer: D 

 

QUESTION 8

Which CLI command shows real time compression statistics through a Juniper DXcluster? 

A. show server stats  

B. vmstat  

C. tcpdump print 

D. show netstat  

Correct Answer: A 

 

QUESTION 9

An enterprise has a web application running both HTTP and HTTPS. How many Clusters must be created? 

A. 4 

B. 2 

C. 3 

D. 1 

Correct Answer: B 

 

QUESTION 10

Which two protocols are supported for nonweb SSL termination? (Choose two.) 

A. POP3 

B. NTP 

C. SMTP 

D. FTP 

Correct Answer: AC 

 

QUESTION 11

You have a Level 1only router (Router A) in ISIS area 49.0001. How does Router Alearn how to reach prefixes in other
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areas? 

A. Router A must have a Level 2 adjancy with the Level 1/Level 2 router in area49.0001. 

B. The Level 1/Level 2 router in area 49.0001 sets the "attached" bit in the Level 2 LSPit floods into area49.0001. 

C. The Level 1/Level 2 router in area 49.0001 sets the "attached" bit in the Level 1 linkstate PDU (LSP) itfloods into area
49.0001. 

D. The Level 1/Level 2 router in area 49.0001ADVERTISES THESE PREFIXES INTOAREA 49.0001USING A level 2
LSP it floods into area. 

Correct Answer: C 

 

QUESTION 12

Which load balancing algorithms are supported by the Juniper DX SLB? 

A. RoundRobin, Weighted RoundRobin, URL Hash, Backup Chaining, Least Connections 

B. RoundRobin, Weighted RoundRobin, Fewest Outstanding Requests, Backup Chaining 

C. RoundRobin, Weighted RoundRobin, Fewest Outstanding Requests, URL Hash 

D. RoundRobin, Weighted RoundRobin, Least Connections, Backup Chaining, Max Connections 

Correct Answer: D 

 

QUESTION 13

What is one function of MBGP? 

A. extending IPSec tunnels 

B. carrying multiple address families 

C. propagating DVMRP routing information 

D. extending Autonomous System GRE tunnels 

Correct Answer: B 

 

QUESTION 14

There are three routers on a Gigabit Ethernet LAN: Router A, Router B, and Router C,Router A is the Designated
intermediate System (DIS) at Level 1 for that LAN. Router A\\'s DIS priority is 64. The LAN is a Level 1only link. Router
D has just been powered up on that same LAN and its DIS priority is 80. 

Which statement is true? 

A. Router A remains the DIS and generates a new pseudonode LSP for that LAN. 
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B. Router A remains the DIS and NO new pseudonode LSP is generated for that LAN. 

C. Router D becomes the new DIS, generates a new pseudonode LSP for that LAN, And purges the oldpseudnode LSP
generated by Router A. 

D. Router D becomes the new DIS, does NOT generate a new pseudnode LSP for That LAN, and doesNOT purge the
old psednode LSP generated by Router A. 

Correct Answer: C 

 

 

QUESTION 15

When configuring NAT parameters for an SLB, which statement is true? 

A. You must always use port range regardless of NAT type. 

B. You do not need to use port range when using half NAT. 

C. You do not need to use port range when using full NAT. 

D. You must always use the default port range regardless of NAT type. 

Correct Answer: B 
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